Chapter 9: Fluids
College Physics

Chapter 9

Fluids

Problems


1.
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13.
(a)
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(b)
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The pressure decreases by 
[image: image4.wmf]410 Pa.



23.
(a)
The amount the fluid rises is one-half the difference of levels, or 
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(b)
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35.
Use the continuity equation for an ideal fluid.
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45.
(a)
Use Poiseuille’s law to find the pressure of the fluid in the syringe, 
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(b)
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57.


	m (g)
	8
	12
	16
	20
	24
	28

	
[image: image13.wmf]t

cm

 

s

v

æö

ç÷

èø


	1.0
	1.5
	2.0
	2.5
	3.0
	3.5

	
[image: image14.wmf]t

gs

 

cm

m

v

×

æö

ç÷

èø


	8
	8.0
	8.0
	8.0
	8.0
	8.0

	
[image: image15.wmf]2

22

t

gs

 

cm

m

v

æö

×

ç÷

ç÷

èø


	8
	5.3
	4.0
	3.2
	2.7
	2.3




For a viscous drag force, 
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For a turbulent drag force, 
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73.
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 (for the opening where the airspeed is zero), so Bernoulli’s equation becomes 
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